
Assembly Instruction
 Item No: DAME#78T & DAME#78B

    Description :  BAR TOP 78IN & BAR BASE WITH QUARTZ

PARTS  LIST

BAR TOP (1PC)

1

BAR BASE (1PC) LONG HOLLOW
METAL BAR (1PC)

No Description Sketch Q'TY

1PCAllen Wrench 4mmA

B

C

D

E

16PCSBolt Ø5/16 x 20mm

Lock Washer Ø5/16 x 12mm

Flat Washer Ø5/16 x 19mm

24PCS

24PCS

Page 1 of 2

HARDWARE LIST

2 3 4

SHORT HOLLOW
METAL BAR (2PCS)

Bolt Ø5/16 x 40mm 8PCS

FRONT

BACK

Parker House
FURNITURE



STEP 2

STEP 1

Page 2 of 2

1

2

3

4

4

2

A

B

D

E

A

C

D

E

Assembly Instruction
 Item No: DAME#78T & DAME#78B

    Description :  BAR TOP 78IN & BAR BASE WITH QUARTZ

STEP 3

Hollow metal bar are here Hardware are here

Parker House
FURNITURE


	AI PH-325 2021-03-15 Model (1)
	AI PH-325 2021-03-15 Model (1)

